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E 0 & AHH E A A

A A=K
mE: NE RS
ool AEZD X (che|:miel)
SN - B BR(EH) - NRAY - BES 0l r ot Ny o HimE=T
SR=XIT 19,108,505 19,417,276 £313,771
2 2,998,937 2,899,939 98,9%8
2 857,880 857,880 0
o] 3,967 3,967 0
= 2,506,592 2,506,592 0
x 300,000 300,000 0
= 2,317,129 2,720,898 £412,769
N T 5,464,510 5,368,412 9,098
2 2,297,957 2,198,959 %,9%8
= 699,546 699,546 0
2 2,467,007 2,469,907 £2,900
QEZL XIS 33,250 224,252 %,9%8
2 209, 106 110,108 98,998
= 46,401 46,401 0
2 67,743 67,743 0
ANNEZ XIZ %,9%8 0 9,998
2 9,998 0 %,9%8
301 Y BHZ %,9%8 0 9,998
2 98,9%8 0 98,9%8
14 JIEH2 A3 98,998 0 %,9%
eix=a XZ 98,998, 00021 14! 9,998 0 %,9%8
2 %,9%8 0 %,9%8
ST Bswe 2,023,713 2,026,613 22,900
= 742,631 742,631 0
= 237,370 237,370 0
2 1,043,712 1,046,612 A2,900
ENEEET] 13,100 15,000 A1,900
401 A BI L= TH| 13,100 15,000 A1,900
01 A&t 13,100 16,000 A1,900
ONISLIR FHIAS
2% 13,100,008+ 1742 13,100 15,000 A1,900
SLAEH SIBIRI 2 AFX] FHIARY 524,000 525,000 A1,000
T ECSTI 524,000 525,000 A1,000
o 22l 14,000 16,000 A1,000
OMAIERIBI & AT ZHIANY 22I8
o 2% 14,000,002 141 14,000 16,000 A1,000
INERIETE 5,611,263 6,099,315 488,052
2 525,96 525,99 0
= 997,607 997,607 0
2 4,087,660 4,575,712 488,052
NEED U= 5,611,263 6,009,315 £488,052
2 525,996 525,99 0
= 997,607 997,607 0
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SN ST
HE: AR oL
CH9l: AMERRIAIY FX (cisl: M)
SN - B SA(B) - NIRA - BES 04l o N H o HIRE2
= 4,087,660 4,575,712 488,062
NEYTEE K 2,113,265 2,506,317 483,082
101 Q1218 1,852,265 2,335,317 483,082
VBIEEET=I=PS 1,852,265 2,335,317 483,082
OaZ ST Y| 1,333,945 1,816,997 483,082
oJI=3
A 76,9602 10421+ 14921 460% 715,544 1,013,687 £298,143
OF - Fr4g
BT 76,9602 104014282 +60% 134,465 190,492 £56,027
OfgaRLL
2% 38,4802 1042154421 460% 05,651 149,672 £ 44,021
ouNIRLY
2% 38,4802 % 104214502 460% 20,058 170,082 A50,024
o4 Y3
2% 258,206, 4301%14] 258,227 293,064 A34,837
AEEIS AR HBE EHAR(RH) 0 5,000 £5,000
401 AIEBI L= TH| 0 5,000 25,000
o 22l 0 5,000 75,000
ONENS AR HEE TLAY 22l
bl A 0! 0 5,000 5,000
T2 I (L2 =X T) 188,405 198,518 210,113
ol2i2 | (AR =TI 118,753 128,866 AT10,113
ol 2| (A =KD 18,753 128,866 A10,113
101 21218 18,753 128,866 A10,113
ECEIEPF L EETE=PS 3,955 46,068 A10,113
OFYY oA 7,619 10,038 ~2,419
Osgzaesd
AT 102, AR50+ 1002 5,148 5,405 ~257
OFY2L+H(BLUAE)
A 102, 945!« 1500 162 2.471 4,633 £2,162
08Uy HopelH 9,066 11,708 £2,642
OFaR+g
AT 120, 071215006+ 1002 6.004 6,304 A300
OFL2L4Y(BLUAE)
A 120, 07121600 172 3,062 5,404 £2,302
OWSHHIYEI DS QIR 8,586 1,312 £2,726
OpgaRsd
A 116, 0082501002 5.801 6,001 £290
0L+ (BLUAE)
A 116,008+ 150% 162! 2,78 5,221 N2,43
0FYY AL 7.328 9,654 £2,3%6
OpgaRsd
AT 09,0032 50+ 125+ 1002 4,951 5,198 ~o47
OFY224+Y(BLUHE)
A 09,0037+ 150%+ 124 162! 2,377 4,456 £2,079
TP &S (A2 =Xl 97,102 8,806 88,29
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A =X

Y MHes(ag=sI)
ctel. BEXIE EEREED)
£M -3 21(3AH) - HRAY - BHYS Ol &k &3 M HnE2
=RSPAE 97,102 8,806 83,2%
BX3 pre 97,102 8,806 83,2%
802 Btat=0 97,102 8,806 83,2%
01 2 DExIBte= 82,439 6,339 76,100
02022 EIHRIIAG(EH, S3) 212X
= gtes 1,072,300 * 14! 1,073 0 1,073
o202 FEAY =1N2x= BHEtg
15, 710& %14 16 0 16
02022 =E8E SMRILLY 2NEXS
prats 3,170,330 14! 3,171 0 3,171
©20214 AHRATHOHCHZH| 2 DEXF BHats(
dEsR) 24,050 14! 25 0 25
©20224@ AtI=XE SHREIEZLY =108
=3 btet=s 10,9602 14! 1 0 1
020228 LHAFX=2S 2 NEXZ BHEs
56,198,350 x 14! 56,199 0 56,19
©21~22E UAMSMAD|BIESAIY 2 NE X
3 prets 12,537,250 @ * 14 12,538 0 12,538
0202248 FHUYMS0ISEIANY 2NEXS
Btet= 1,744,150 14 1,745 0 1,745
©20224@ AHEMEIOE 2F0HUM 2 DEX
3 BHE3 2,750 14 3 0 3
02022 AFRIAHIAZR0IAIE (&ollA) =0
2X3 ge=s 1,318,330& 14 1,319 0 1,319
02 Al - SHIEZZ8te = 14,663 2,467 12,196
OAZNZ X AS0E ASBI0I20HA
X2AY SHIEEZ Brea
3,658,650 * 14! 3,659 0 3,659
0202249 XXM T Al &MY SHISES
grets 80,6803 14! 81 0 81
020224 =E8Z STAAELY THIEES
BHE= 1,268, 1302 14! 1,269 0 1,269
O202E SIS (M, 33) ZHIEX
ERl=r=] 319,610+ 14! 320 0 320
O20229 HEAY THIEEZ BHEZ
4,710 *14] 5 0 5
©20224 Al2IEX8 SHRIELY SHIE
£3 BtEs 3,280 14! 4 0 4
©21~22E AXMSMAD|BIE LA THIEX
3 ez 3,843,870 1Al 3,844 0 3,844
O20228 FHUYMS0IBSEEIANY ZHIEES
BHEa 695,990 * 14! 6% 0 6%6
20228 AHEMEOES 2H0HLIN ZHIZXE
2 BtEa 82014 1 0 1
O20228 (Yol SXHLY XA &
HEXZ ez 240,870 14! 241 0 24
20228 YHQl=F FHIEXS Htets
1,687,520 & 14 1,688 0 1,688
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